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 BCOG-171  

BACHELOR OF COMMERCE (GENERAL) 

(B.Com.G) (CBCS) 

Term-End Examination 

June, 2022 
 

BCOG-171 : PRINCIPLES OF MICRO ECONOMICS 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt any five questions. All questions carry 

equal marks. 

 

1. What is an economic system ? Explain the 

fundamental problems of an economy. 5+15=20 

2. (a) What do you understand by Micro 

Economics and Macro Economics ? Discuss 

the scope of Micro Economics. 4+6=10 

(b) Discuss the determinants of demand for a 

consumer.  10 

3. Explain the concept of price elasticity of  

demand, income elasticity of demand and price 

cross-elasticity of demand. 20 

4. State the Law of Diminishing Marginal Utility 

and its limitations. Is the Law of Diminishing 

Marginal Utility applicable to money ? Justify 

your answer. 14+6=20 
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5. (a) What are the main determinants of 

Elasticity of Supply of a commodity ? 

Explain with examples. 10 

(b) Explain the application of Elasticity of 

Supply with suitable examples in business 

decision-making.  10 

6. Explain in detail the Liquidity Preference 

theory.  20 

7. Explain the characteristics of a perfect 

competition market. Discuss short period 

equilibrium of a firm under perfect  

competition. 10+10=20 

8. Write short notes on any four of the  

following :  45=20 

(a) Loanable Funds Theory 

(b) Characteristics of Oligopoly 

(c) Quasi Rent 

(d) Trade Unions and Collective Bargaining 

(e) Backward Bending Supply Curve 
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 ~r.gr.Amo.Or.-171  

dm{UÁ` _| ñZmVH$ (gm_mÝ`)  
(~r.H$m°_.Or.) (gr.~r.gr.Eg.) 

gÌm§V narjm 

OyZ,  2022 

~r.gr.Amo.Or.-171 : ì`{ï> AW©emñÌ Ho$ {gÕm§V 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 
h¢ & 

 

1. Am{W©H$ àUmbr Š`m h¡ ? {H$gr AW©ì`dñWm H$s _yb 

g_ñ`mAm| H$mo ñnï> H$s{OE & 5+15=20 

2. (H$) ì`{ï> AW©emñÌ Am¡a g_{ï> AW©emñÌ go Amn Š`m 
g_PVo h¢ ? ì`{ï> AW©emñÌ Ho$ joÌ H$s MMm©  
H$s{OE & 4+6=10 

(I) Cn^moº$m Ho$ {bE _m±J Ho$ {ZYm©aH$m| H$s MMm© H$s{OE & 10 

3. _m±J H$s H$s_V bmoM, _m±J H$s Am` bmoM Am¡a _m±J H$s 

H$s_V à{VbmoM H$s g§H$ënZm H$s ì`m»`m H$s{OE & 20 

4. õmg_mZ gr_m§V Cn`mo{JVm {Z`_ Am¡a BgH$s gr_mAm| H$mo 

~VmBE & Š`m õmg_mZ gr_m§V Cn`mo{JVm {Z`_ H$mo _wÐm na 

bmJy {H$`m Om gH$Vm h¡ ? AnZo CÎma H$s nw{ï> H$s{OE & 14+6=20 
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5. (H$) {H$gr dñVw H$s ny{V© bmoM Ho$ _w»` {ZYm©aH$ Š`m  
h¢ ? CXmhaUm| g{hV ì`m»`m H$s{OE &  10 

(I) ì`mdgm{`H$ {ZU©`Z _| ny{V© bmoM Ho$ AZwà`moJ H$mo 
Cn`wº$ CXmhaUm| g{hV g_PmBE & 10 

6. VabVm A{Y_mZ {gÕm§V H$s {dñV¥V ì`m»`m H$s{OE & 20 

7. nyU© à{V`mo{JVm ~mµOma H$s {deofVmAm| H$s ì`m»`m  

H$s{OE & nyU© à{V`mo{JVm _| Aën H$mb _| \$_© Ho$ g§VwbZ 

H$s MMm© H$s{OE & 10+10=20 

8. {ZåZ{b{IV _| go {H$Ýht Mma na g§{jßV {Q>ßn{U`m±  

{b{IE :  45=20 

(H$) CYmamW© {Z{Y {gÕm§V 

(I) Aënm{YH$ma H$s {deofVmE± 

(J) Am^mgr bJmZ 

(K) _µOXÿa g§K Am¡a gm_y{hH$ gm¡XmH$mar 

(L>) nrN>o _w‹S>Zo dmbm ny{V© dH«$  
 

 


